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1.

A T
GENERAL KNOWLEDGE

AT el GRS 1 G 399 ferliad & & w-T1 8 7
(A) ATfrepTies sl | fad) o SRINT hl Sicariad s

(B) 3Tferehiiteh St T IS <l TcHTiEd HEAT
(C) YR § &= WTI3T Sl S@reT el

(D) &=t % il &l FH o

Which of the following is the main objective of the Rajbhasha Kirti Puraskar Yojana ?

(A) To encourage the use of Hindi in official work

B) To encourage English in official work

(
(C) To Promote regional languages in India
(

D) To honour Hindi poets

394 IIed fopm oy gy foma R 7

In which year was the UTSAV portal launched ?

GET IT ON
Google Play

(A) 2024 (B) 2023 (C) 2020 (D) 2022

Tt — | W1 G - 11 % |1 gafaa Hife qen gl % e fer T e @ wd 3w g |
T - -1l
(FEh) (T&Th)

a. 3fae fem . € g 3% T e

b. fertor <ETE II. T TRy AT® g

c. IRyl U lIl. § QT8 2T

d. =fi. Tg. qRdiE IV. 39 T 36T &2

%c:

(A) a=Lb-lll,c=1l,d=1IV (B)a—-Ill,b-Il,c—1,d-1V
(C) a=Il,b-1V,c—1,d=1lll (D)a—-1IV,b—-1,c—1l,d-1ll
Match List — | with List — Il and select the correct answer from the code given below the lists.
List -1l
(Book)
I. The God of Small Things
[I. The Inheritance of Loss

List -1
(Author)
a. Arwind Adiga
b. Kiran Desai
c. Arundhati Roy
d. V. S. Naipaul
Code :
(A) a-Lb-ll,c—-Il,d-1V
(C) a=ll,b=1V,c=1I,d-1l

[ll. The White

Tiger

IV. In a Free State

B) a=Illl,b—1Il,c—1,d—IV
(D) a=IV,b—1I,c—IIl,d—1I
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GET IT ON
Google Play

4. HF-H IRAT HH, 2024 H F. 20 TG HUS B TR Yo TohU B T Tt IR qged

HEA &9 T ?

(A) e seeis
(B) di.@t.um.

(C) I .us.Hi. 5%
(D) HFSHI T

Which Indian company became the first Indian company to achieve a market capitalization of Rs. 20 lakh

crore in 2024 ?

(A) Reliance Industries
(B) T.C.S.

(C) HDFC Bank

(D) Adani Enterprises

fore IR 309 % IeTed % forg AT wfdg 2 7

(A) S (B) meft

(C) g (D) e
Nagaur is famous for the production of which aromatic crop ?

(A) Cumin seeds (B) Fenugreek
(C) Garlic (D) Coriander

T 1 Taell IH: SIS BISiorg Tehe &1 -1 Jaifua foram
(A) 31 fegst 2024
(B) 04 fegsw 2024
(C) 04 fadsw 2024
(D) 24 3TTE 2024

India’s first reusable hybrid rocket Rhumi-I was launched on
(A) December 31, 2024
(B) December 04, 2024
(C) September 04, 2024

(D) August 24, 2024
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GET IT ON
Google Play

7. T -1 - 1| % WY GAfId hifere qem gt & e feu T e @ wE W g |

g -
(qera frgateraer)
a. @aagaﬁ%r?aﬁmm
b. JaTsl uTyEg S o favafaame
c. IYUAM HEER g fereafranmera
d. 9. gt st g fervafaamer

e :

g -1l
(¥m)
|. I

II. ShIcTehTal
1. feremmEge

IV. SHTR

(A) a=IV,b-1lll,c—1l,d=1 (Bla-Ill,b—1Il,c—IV,d—I

(C) a=Il,b—1,c—1IV,d=1ll (D)a—1IV,b—1l,c—1,d—1lII

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1
(Open University)

a. Global Open University
b. Netaji Subhashchandra Bose

Open University
c. Vardhman Mahaveer

Open University
d. Pt. Sundarlal Sharma

Open University

Code :

List -1l
(Place)
Kota

. Kolkata

Bilaspur

Dimapur

(A) a=IV,b-1lll,c=Il,d=1 (B)ya-Ill,b=Il,c—-1IV,d-1

(C) a=Il,b—1l,c—IV,d=1ll (D)a—IV,b—1Il,c—1,d—1I

8. 0 U i e w1 uh E=ies e gid T8 2 ?

(A) UNER
(C) M= T

Which one of the following is not a source of informal agency of education ?

(A) The family

(C) General games

(B) §HcT™

(D) enfifer T

(B) The community

(D) Religious institutions
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9. T I THh THH | T T I[E Hich A HIWT |
|. I THT HT T
1. e fafer
I, SNY % 33
IV. 3Thgl 1 €U
= feu U e § @ wE W g
%
(A) 11,1V, B) I, 1V, 1,11
(C) 1LV, I (D) 1, 10,1, v
Arrange the following from beginning in a sequence.
I. Selection of research problem
Il. Method of research
[ll. Objective of research

IV. Data collection
Choose the correct answer from the code given below :

Code :
(A) 11,1V, (B) I, 1V, I, 11
(C) 1,1, 1v, 1 (D) 1,10, 1v

10. = 3 e & 7 & T &I I (A) 71 g 1 HR (R) FaT T R

W(A):%m.w.w.wﬁnm%ﬁﬁwwﬁﬁmﬁmmﬁ 20154 &
o |

THRT (R) : T, 3775, 3TR. T, ol I3 (1= HTIGUST o 3MUR T YR W § 3= f3reqn e 1
fougr 3R UReEl qedreh JeH & 7 |

(A) (A) 3T (R) 31 8 & 3T (R) , (A) T FE AR el 2

(B) (A) 3T (R) CHI T & W (R) , (A) I Tl AT Tl Haell B

(O) (A) & B Wg (R) Terd &

(D) (A) Tefd & g (R) & &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : The NIRF is a ranking system introduced by the Ministry of Education,
Govt. of India in 2015.

Reason (R) : NIRF aims to provide a fair and transparent assessment of higher education
institution across India based on various parameters.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A)is false but (R) is true

A
A
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11, vemea | forr Sor wfafedm & yq@ 3w = § 7
a. ST & JER 9 TR W@ |
b. TS TR} 1 WA T |
c. T3S GL&T ST |
d. FEhT T § ghg |

= feu MU e § § T W g

He:

(A) HI a, b, ¢ (B) A a, ¢, d
(C) %ad ¢, b (D) e b, d

What are the major uses of Big Data Analytics in governance ?
a. Tracking the spread of diseases.

b. Predicting election outcomes.

c. Enhancing cyber security.

d. Increasing govt. tax revenue.

Choose the correct answer from the code given below :

Code :
(A) a, b, conly (B) a,c,donly
(C) c,bonly (D) b, donly

12. s g ufquifed FHTenes Afeger e o fferfaa o & &= aftifoa 78 g 2
(A) Y (B) ST (C) Tergetwor (D) =LA

Which of the following is not included in the cognitive educational objective proposed by Bloom ?
(A) Comprehension (B) Application (C) Analysis (D) Organization

13. T=fafea & @ wF-w1 v 31E @&, yoreft &1 gesh TE 7 7
(A) BTETHR (B) TSR (C) H= (D) SRIWfEH T

Which of the following is not a component of an ICT system ?

(A) Hardware (B) Software (C) Information (D) Biometric sensors
14, TR H AR S 37 fufor & wH W # ST 2, Faerd! @
(A) 3R 37 T (B) IR T TH (C) Mamanwa (D) 0 W3

The memory of the computer which is programmed at the time of its manufacturing is called as

(A) ROM (B) RAM (C) PROM (D) EPROM
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15.

16.

17.

18.

= 8 9 1t Hhm gigaan (TarE) Iyt TE 7 7

(A) T & =R (B) it

(C) FARE (D) = St
Which one of the following is not an Atrtificial Intelligence(Al) tool ?
(A) Google Play Store (B) Gemini
(C) Claude (D) Chat GPT

frfefiaa & & % yer TguuTr 1 B R 7

(A) IISTH (B) WA (C) Tfag-ast
Which of the following is the cause of soil pollution ?

(A) Ozone (B) Aerosol (C) Acid-rain

(A) ISIH G (B) dfrehT a=t i
(C) UT=H d= i (D) 3IcESH q i
“Limbic system” is part of

(A) Reproductive system (B) Nervous system
(C) Digestive system (D) Excretory system

frafefaa 8 @ o wra § 31 fedew 2024 q THER WA B ?
a. SRE ISa MRS

b. THTE et

c. Fare HAIM

d. FEaHER T I

Fe:

a. Bakhira Wildlife Sanctuary
b. Ramgarh Lake

c. Sundarban Wetland

d. Sultanpur National Park

Choose the correct answer from the code given below :
Code :

(A) aandb only (B) b, candd only
(C) a,b,candd (D) aandconly

(A) haet a 3 b (B) @hadl b, ¢ 3N d
(C) a, b, c 3 d (D) haet a 3 ¢

Which of the following is a Ramsar site in India as on December 31, 2024 ?

(D) T

(D) Smog

GET IT ON
Google Play
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19. o gu fra 2
(A) AveHH | OREEIELE:] (C) wetgia | (D) Tafverr &
‘Barren’ Island is situated in
(A) Andaman (B) Nicobar (C) Lakshadweep (D) Minicoy

20. 3TMVTe Sell HEAM, gl hl TATOHT e g3 off ?

In which year Atomic Energy Institute, Trombay was established ?

(A) 1948 (B) 1950 (C) 1952 (D) 1954
21, i ST e vd TS % AW % 1S f@ ™ € | 9 et o g i |
gyt T T4
1. I GIR - eI
2. R deetvg - fym
3. Ul deivg - e
4. TSR - IATIS
(A) 1T 25 B (B) 179 4 Tl &
(C) 27 3 W (D) 2H 4 W
Ramsar sites and name of states paired below. Choose the correct pair.
Ramsar Site State
1. Sakya Sagar —  Madhya Pradesh
2. Sirpur Wetland —  Tripura
3. Pala Wetland —  Meghalaya
4. Sur Sarovar —  Uttar Pradesh
(A) 1 and 2 are correct (B) 1 and 4 are correct
(C) 2 and 3 are correct (D) 2 and 4 are correct
22. Torm ifireig ® wrefiq@ va aREl gF &1 39 AT ° Iooi@ firerar 8 7
(A) SREIFT eI (B) VEIel SIfEd
(C) 3Ive Ao (D) Toradt Ty srfiora
In which inscription both Kalidas and Bharavi are mentioned by their names ?
(A) Prayag Prashasti (B) Aihole Prashasti
(C) Ayodhya Inscription (D) Bhitari Pillar Inscription
23. gfer skt o o] Tagig o w0 wiiefisht <l 3T 1 81 A HiA-dt uedt § it oft 7
(A) HA (B) T (C) IS TSR (D) "R
Which rank was given to Gandhiji in British Army at the time of Julu Revolt in South Africa ?
(A) Colonel (B) Sergeant (C) SergeantMajor (D) Major
24. ‘ST fRm v # foraft wft oft 2
(A) T (B) THi (©) sreh (D) 3§
In which language was ‘Babarnama’ written ?
(A) Persian (B) Turkish (C) Arabic (D) Urdu
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25. e Aokt hi LR H I 83

(A) Iteforn o (B) ¥Ra §

(C) wgFd TS Uit | (D) ITEeE fohen #

The concept of Public Interest Litigation was originated in

(A) Australia (B) India

(C) United States of America (D) United Kingdom (U.K.)
26. AU T I TH AN 7 e AT g AT ?

(A) 16 3TTEd 1947 (B) 26 & 1947

(C) 09 TcHSX 1946 (D) 26 IR 1946

When was the first session of Constitutional Assembly held ?

(A) 16t August 1947 (B) 26t January 1947

(C) 09t December 1946 (D) 26" November 1946

27. WA % Gfaum # fFrefafad § @ SH-01 38 99 AATfUsR 8 Tefd 8 ?
(A) ITT=T 324 (B) 3TT=sG 325 (C) =2 326 (D) HI=aq 327

Which one of the following Articles of Constitution of India deals with adult suffrage ?

(A) Article 324 (B) Article 325 (C) Article 326 (D) Article 327
28. EA 3cUTeH H WRA 1 fava H -8 TIH 8 ?

(A) 5| (B) fedfra (©) T (D) =q¥

What is the rank of India in the world in rice production ?

(A) 1t (B) 2 (C) 31 (D) 4"
29. f.uA.31E. (P.L.I.) ThiA forH T & © gafeq I8 8 7

(A) meTse fafmtor (B) 3TCIHISTSA 3T

(C) Tafercar Iushtur (D) 3T | & IS Tl

PLI scheme is not related to which one of the following ?

(A) Mobile manufacturing (B) Automobile industry

(C) Medical devices (D) None of the above

30. WRd § TaAAT < qvETd {H R i AT L 1 AT 297 o1

(A) fErEH fopami =t iy 1 gAfda (B) 3T T <h! @TeT Al

(C) M JENT I FTeATEd HET (D) Wl &g PN M 1 SR

The primary objective of land reform in India implemented in the Post Independence was

(A) Redistribution of land to landless farmer (B) To promote real estate

(C) Promotion of agro industries (D) Privatization of agricultural land for cultivation

g- 92
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YT vd g famm
ANIMAL HUSBANDRY AND DAIRYING
31. WA We i Tt RTeH a9 1 geE A qE1 g H I A 8

(A) T (B) weardl (C) WeEr (D) F
Which breed of Indian Buffalo is specifically renowned for highest content of butter fat in its milk ?
(A) Murrah (B) Bhadwari (C) Mehsana (D) Surti

32. WRA H UYYH 6l e SEH o folT Tl JoE
(A) & wRIEF TR e (B) TS Tigpet firer
(C) Hi-foerst whim (D) T aere firem

The first systematic attempt in India to improve the quality of cattle was
(A) Intensive Cattle Development Project (ICDP) (B) Rashtriya Gokul Mission (RGM)

(C) Key-Village Scheme (KVS) (D) National Live-Stock Mission (NLM)
33. FAOSTAT (2019) % 3Tl & ITTHR WA 1 LM 7T IcdTed |

(A) T (B) Bal (C) dT=an (D) &

According to FAOSTAT production data (2019) the rank of India in egg production is

(A) Third (B) Sixth (C) Fifth (D) Second
34. TS § g3 hl g T H & -1 g 7

(A) A = (B) T3

(C) Fh-3RR (D) &€t The ATeh-ITRR

Denmark is the native place of following breed of pigs

(A) Tam Worth (B) Land-race

(C) York-Shire (D) Large white York-shire
35. 1930 H Ygen uUTeH fesiss s fge femem mam o ¢

(A) BT. & AL el (B) T 3R 3Teer

(C) W «re ferferemm (D) SI. IE Ht. e

The first animal husbandry expert in 1930 was appointed by

(A) Dr. John Augustus Voelkar (B) Sir Arthur Olver

(C) Sir Lord Linlithgow (D) Dr. Norman C. Wright

36. 1972 %l UIEE TVMT % FTER ¢ B dea@ sl TT@ fohat oft 7
(A) B8 fuferm (B) ™E fuferam () < fuferem (D) =t fferm

According to the 1972 Livestock census the Duck population in the country was about

(A) Six million (B) Eleven million (C) Two million (D) Nine million

-10- 92
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37. fopell STt o SfHIeTed o SrIFeh SR ST SRR TR HiAeTel T Heerd &

(A) Teefieha (B) 3TETH (C) for uftada (D) BIIH

The phenomenon causes sudden discrete and heritable change in the genotype of an organism is
called

(A) Replication (B) Heredity (C) Sexreversal (D) Mutation

38. ghefaferdl qoo ®u # fohaeh! Teqa wtaT & 7

Heritability in the narrow sense is represented by

(A) Vo/Vp (B) Vc/Vp (C) Vp/Vp (D) ViVp
39. I UfshaT TS BraT & 3 TN & foTu S 3ok g foharm e 2
(A) 3 S (B) e S
(C) uefea = (D) 3w |t &% grI
Selection is effective for those traits which are governed by
(A) Epistatic genes (B) Dominant genes
(C) Additive genes (D) All the above
40. el Gure 4 foagsht UN 1 STIHIGH ek fohdAT U1 SERIT ST Hehdl & 7
(A) 75 e (B) 50 fcrerd (C) 87.5 Ufaurd (D) 94.0 Jferd
The percentage of exotic inheritance replaced in the 3™ generation through
upgrading is
(A) 75% (B) 50% (C) 87.5% (D) 94.0%
41, gIsfifen gesti & il o e | h e 2
(A) 2 fafeém (B) =t feifem
(C) e foifem (D) ST I i< Tel
Inbreeding with an ancestral sine is known as
(A) Top-breeding (B) Close-breeding
(C) Line-breeding (D) None of the above
42.  FAMTIeeh AT forawor ot wredt foemor < 37U 1 wgd 8
(A) I (B) TAfIRAT (ORUSEIEIE (D) fawq =
The ratio of additive genetic variance to the total phenotypic variance is known as
(A) Gametogenesis (B) Heritability (C) Polygenesis (D) Hetrogenesis
43. WA H YO TRV o AW § T8 HE 6 g9 H TH o AT ST T,
faere o g3t o |
(A) 3EET 1986 (B) SId 1985 (©C) feomaw 1987 (D) g 1987
In India, first Buffalo Calf through embryo transfer was born in at Sabarmati Ashram
Gaushala Bidaj.
(A) October 1986 (B) June 1985 (C) December 1987 (D) November 1987

11- 92
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44, T &l IOt o Sfied | 3T 3Tl THT W Teh &l Aq0 6l Afreafad shaard &

(A) Sta-fafaeran (B) TSI (C) greRH (D) ferrea
Expression of the same trait in the life of the same animal at different times is called
(A) Bio-diversity (B) Heritability (C) Repeatability (D) Inheritance

45. TR % IEITA, T TF <X b iaew hl shA: fehan frefium daifem ufa fo6. o b uered
1 TRl Bl B ?

What is the requirement of selenium by cows in early, mid and late lactation respectively in
mg/per kg dry-matter ?

(A) 22,23, 25 (B) 1.4,1.6, 1.8 (C) 0.3,0.3, 0.3 (D) 0.6, 0.6, 0.6

46. 3T TUTEET aTt @ H T} 1 feha wfwra g1 =tew ¢
In good quality hay moisture content should be
(A) 10 (B) 15 (C) 20 (D) 22

47. BIA 377d ° -9 Ik fopvaeh T8l qrIT ST 8 7

(A) " (B) THTSA! YIS (C) JFATETESS (D) I

Which digestive enzyme is not found in small intestine ?

(A) Lactase (B) Amylopeptidase (C) Nucleosidase (D) Renin
48. e T 1 Ufdfed i fae o sifeehan ) o= 8 ?

(A) 25UH (B) 50 ™ (C) 750 (D) 100 U™

What is the maximum level of urea feeding for adult cattle/day ?

(A) 25 gm (B) 50 gm (C) 75gm (D) 100 gm

49. U9 H ueh fohcll 7 Wfcrerd <& oIt gU 2q <. & ff. 3R &, . . forc 1 TR 7 7

(A) 63 TTH 3T 460 U™ (B) 75 T 3T 500 U™
(C) 55 U™ 3R 400 UM (D) 70 U™ 3R 450 U™
DCP and TDN requirement in Buffalo for one kg of milk having 7% fat
(A) 63 gm and 460 gm (B) 75 gm and 500 gm
(C) 55 gm and 400 gm (D) 70 gm and 450 gm
50. WIEH St ®09 § MU €9 ¥ Youiel T8l 8 8 FHEAT 8 |
(A) SE-UTE T (B) ¥ STTh i T
(C) Frwredt M (D) TR WM ATsgeH s
Protein that are not extensively degraded in the rumen are called
(A) By-pass proteins (B) Rumen degradable protein
(C) True protein (D) Non protein nitrogen compound
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51. TN o Gceh T T3 i I qeLy fgesie B (T, 1. Th.) & e 781 8

(A) & (B) THEIS ) fomfm (D) AT
Select the component of forage that is not a part of Neutral Detergent Fiber (NDF)
(A) Starch (B) Hemicellulose (C) Lignin (D) Cellulose

52. g ShiA-d1 wifees qlehT 8 S e TJurean aTel o Sl 31sT 99 § 7

(A) = (B) Tl

(C) =fepT (D) w9 fafer

The physical methods employed to improve the poor quality roughage

(A) Chopping (B) Grinding

(C) Soaking (D) Steam processing
53. Tai § feeg red ames fommd fopoeht weft & &t 7 ¢

INREE? (B) WiaTee

(C) I (D) =

Slipped Tendon in chicks is a condition caused due to deficiency of

(A) Zinc (B) Cobalt

(C) lodine (D) Manganese

54. Y ol ATl T o UM H 60% WRId § 3Afeeh ST of § HH-H fomrd &1 el 3 ¢

(A) ™ (B) TfHERE (C) |Tgeh (D) T feht
Feeding concentrate above 60% in ration of dairy cow will lead to
(A) Ketosis (B) Acidosis (C) Pica (D) Grass-tetany

55. HIE oI T &id: fheehl St & SRuT 2T 8 7

(A) fererfim - @ (B) frerfie - =t
() fererfim- 3 (D) Taerfim - &
Muscular dystrophy is due to deficiency of
(A) vitamin A (B) vitamin C
(C) vitamin E (D) vitamin D
56. J91 S H T W Sed! ST 1 TEg AT 8 IR 30 @ IHh! qre e H GER L ¢ |
(A) STemIfead (B) eT3e fAfewmmRE
(C) I Fe=r (D) Hicg 3TeErh
In young calves the facilitate early clotting of milk and there by improve its digestibility.
(A) Probiotics (B) Diet acidifiers
(C) Yeast culture (D) Mold inhibitors
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57. fr=fafaa @ 9 forad 9ida <6 @en ge@ 3t 8 7

(A) =TI 6T (B) St =T 3P
(C) Ihel Tl (HicTed) (D) HTSZH @I (HITEH)
Which of the following has the highest protein content ?
(A) Rice-bran (B) Barley’s sprout
(C) Beat molasses (D) Citrus molasses
58. T — I N — 11 S |1Y FATTT B |
et - | (forerem) T - 1 (@)
a. I i. feae deq
b. TgSIFATA i, IO I
c. hleh iii. ShTeA ST
d. T iv. S B ISl I SAehell
a b c d
(A) i ii iii iv
(B) ii iii iv i
(C) i i iv iii
(D) iv iii i ii

Match List — | with List — II.

List — I (vitamin) List — Il (Disease)

a. Tocopherol i. Slipped Tendon

b. Riboflavin ii. Crazy Chicks

c. Cholin iii. Black Tongue

d. Niacin iv. Curled toe paralysis
a b c d

(A) i i iii iv

(B) i iii iv i

(C) i i iv iii

(D) iv iii i i

59. e B T T T HH-HT TN HAIgHIH W7 7

(A) e (B) TR

(C) ®e| (D) S¥ S %e

Which of the following disease of poultry is mycotic disease ?

(A) Coccidiosis (B) Mareks

(C) Faves (D) Bumble foot
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60. YISl S IcUTeT § hIH-HT IRRH JIIT H TR0 A1 8 ?
(A) et < fermy
(B) FUTTr =TTet < fersmoy
(C) ST B3 faremyy
(D) I =EIEE ST forsmoy

The virus used for rabies vaccine production is
(A) Street virus

(B) European bat lyssa virus

(C) Fixed virus

(D) Lagos bat lyssa virus

61. 3N 3. 3. % ey 5 IIgER = i weied fomrd & fopaw fert sh1 Famere o @ e B 2

(A) 21 e B) 45 fe&a
©) 28 fea (D) 14 feq
OIE recommended quarantine days in ‘Glanders’ in equine

(A) 21 days (B) 45 days
(C) 28 days (D) 14 days

62. Tord fommd o dreenren ufterr 48 forem ST 8 2

(A) TS (B) TS

(C) 3% (D) Tufesh
Postmortem examination is contraindicated for the diseases

(A) Rabies (B) Anthrax

(C) Botulism (D) Tuberculosis

63. AMeifey frg U § qrm ST B ?

(A) Yo (B) T HEThT T
(C) TAYEE (D) frete
Nagri bodies is found in which disease ?
(A) Rabies (B) FMD
(C) Anthrax (D) Rinderpest
64. ENT-ehici fehHeh I Bl B ?
(A) SR (Sframy) (B) formy
(C) TRISI3T (D) IR § | i &l
Hog-cholera is caused by
(A) Bacteria (B) Virus
(C) Protozoa (D) None of the above
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66.

67.

Frafafg § @ wi-o1 t gafera T8 2 2
Tl - | -
(@) (Ere)
(A) e ol
(B) =i FaTL LISIER
(C) T=.1d. ooy Foer
(D) T TR el
Which of the following is not correctly matched ?
List—1 List -1l
(Disease) (Vaccine)
(A) Enterotoxemia Multicomponent
(B) Black quarter Polyvalent
(C) H.S. Tissue culture
(D) Anthrax Spore vaccine
TR o g4 ! e H HHE-gd H SATq1 HEl H 2|
(A) = TIEH
(B) <hf¥H
(C) TFRIA
(D) W T (A) 3R (C) THI HEl B
Human milk contains higher amount of as compared to bovine milk.
(A) Whey proteins
(B) Casein
(C) Lactose
(D) Both above option (A) and (C) is correct
T % TSI wiie | fEfafed cep fomm o S @

(A) THI-ATIshH I 3ifaH €I & 91g

(B) THA-ATIsHA ek JfaH &l o Tl

(C) HHA-aTIshH JHeh A Sfidetar & sTg

(D) IHEF (A) 3R (C) ST &l &

In a milk pasteurization plant, the following can be considered as a CCP
(A) Time temperature combination after final heating section

(B) Time temperature combination before final heating section

(C) Time temperature combination after final cooling section

(D) Both above statement (A) and (C) is correct
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68. IEfd = 31UST HEIUEA i firctree S % fou -9 ufteror fman s 2 7

(A) ST3eTET qher (B) B Tdieror
(C) T e (D) &R T weor
Test carried out to detect adulteration of milk fat with vanaspati or margarine
(A) Baudouin test (B) Hotis test
(C) Resorcinol test (D) Hehner's test
69. J.UH. %8 Ug g CEHfeeH (Th. €. U.) 4 U@ frem S fopu 8 S wewied fagral =i weeft
3T T} @ el % for sferd s

The US Food and Drug Administration (FDA) issued regulations that made HACCP principles
mandatory for fish and sea food products in

(A) 2001 (B) 1995 (C) 1998 (D) 2000
70. TSI g9 1 fewieh BT g |
(A) —0.538 —0.57°C (B) 1.0& 2.0°C
(C) 158 2.5°C (D) 25 3.5°C
The freezing point of bovine milk is ranged
(A) —0.53t0—0.57°C (B) 1.0t02.0°C
(C) 1.5t02.5°C (D) 2.51t03.5°C
71. TH g H B eI I AT Bl &
(A) 0.20 UTH/100 TH g4 H (B) 0.28 ITH/100 U g4 H
(C) 0.38 /100 T g4 H (D) 0.40 7®/100 U™ g4 H
B-lactoglobulin in warm milk is
(A) 0.20 gm/100 gm of milk (B) 0.28 gm/100 gm of milk
(C) 0.38 gm/100 gm of milk (D) 0.40 gm/100 gm of milk
72. 3hIH % JUEERII % ToTC HATSSIeh QTR TS 2|
Satisfactory temperature for separation of cream is around
(A) 30°C (B) 40°C
(C) 45°C (D) 48°C
73. M-I °THh SH FY SHS H BEGIHIfcTh TN BTEGIHIsTeh Bh! hl ST Tl & 7
(A) e (B) TWHATEH
(C) SHCTEHI®RR (JTIEiehriY) (D) TEHATESH
In frozen desserts, the following ingredient keeps the hydrophylic and hydrophobic components
intact
(A) Sweetener (B) Stabilizer
(C) Emulsifier (D) Alkalinizer
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74. hEH 1 WIIH ST STA &
Casein has a protein efficiency ratio (PER) of
(A) 2.69 —2.80 (B) 2.40 — 3.60 (C) 2.99 - 3.30 (D) 3.10-3.35

75. WA e o STIER Hial H9-d g8 H Ha1 38 ugref i Nfamar &
Total solid % in sweetened condensed milk as per Indian standard is
(A) 21 (B) 26 (C) 31 (D) 36

76. HHTIHIU o ST¢ Tdal ok § TTSHshH THT i vl fehal ST =Tfeq

(A) 14° TdUs (B) 24° Tl (C) 34° TG (D) 44° TS
In surface cooler the ice-cream mix should be cooled to after homogenization
(A) 14°C (B) 24°C (C) 34°C (D) 44°C

77. TEq ° fheft fetheae sramor fhash IcET A BT ® 7

(A) grsfereieia (B) <iergeiST

(C) TTEgIaE firemset WrREe (D) 3rcferes AN H SEufieEd
Fishy defect in butter is mainly due to the production of

(A) Trimethylamine (B) Lactulose

(C) Hydroxy methyl furfural (D) Excessive amount of diacetyl

78. UH.UH.TH.U.3TE. o TUR 3TSH-sHM H SEdfd ol <l foha=t AT et S wehdt 7 2

(A) 2 ST (B) 5 Sferord

(C) 7.5 gfama (D) F® oft T fern S wehar 2
As per FSSAI the amount of vegetable fat which can be added in ice-cream is

(A) 2% (B) 5%

(C) 7.5% (D) can not be added

79. WI.UH.U. % ITER GV g9 UISS H A § HH JE] BT AT1ET

(A) 20 gfasa (B) 22 gfawra
(C) 24 yfasra (D) 26 fesrd
According to PFA, whole milk powder should contain fat not less than
(A) 20% (B) 22%

(C) 24% (D) 26%

80. 3Tl U aTell =S S % fow gy H Heh/ 9w 1 FHUE B =Ry

The casein/fat ratio in milk for good quality cheese making should be
(A) 0.50 (B) 0.70
(C) 0.90 (D) 1.00
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81. o uerdd # f-smifess 3 i-smifes SH1 1, 38 o1 gl S @ 7

(A) Tomamaifes (B) TI-sifesh
(C) USTIfeH (D) SRIEfeH

A substance containing both pre-biotics and pro-biotics is called

(A) Symbiotic (B) Antibiotic
(C) Abiotic (D) Biostatic

g2. T o o Si-a1 7w =fi &1 Fmiw wwar g 7
(A) H T H Y T ST
(B) Hg o BieT feemn Feprern
(C) AT WA H g9 1 ITAM
(D) T = Bien T e

Which of the following leads to the formation of soft-cheese ?
(A) Using less amount of milk

(B) Removal of small portion of whey

(C) Using more amount of milk

(D) Removal of small amount of protein

83. 2 U HaH HEcYUl T~TSH -1 & ?

(A) AR (B) ATSHH
(C) TafTCH (D) e
The most important enzyme in rennet is
(A) Chymosin (B) Plasmin
(C) Ribonuclease (D) Catalase
84. W ety STEehr STRANT foRl ST & S0 <HH & S TohamT TieRifeeh <h1 BT 3T199%eh & 7
(A) 105 cfu/ml (B) 108 cfu/ml
(C) 1020 cfu/ml (D) 10" cfu/ml
Minimum probiotic count in a food product to be present at the time of consumption
(A) 10° cfu/ml (B) 108 cfu/ml
(C) 1020 cfu/ml (D) 10"S cfu/ml

85. holfSram <hl T SATET B | shi-Ufkfuee i gemsiietar W 1 99Td a1 8 7

(A) wedt 2 (B) =W B 2

(C) 1 &aT & 3 7 &9 BT & (D) Teft ST U A B
Higher the calcium content in a co-precipitate the solubility

(A) Increases (B) Decreases

(C) Neither increases nor decreases (D) All the above options are incorrect
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86. gl — | I Tl — || & Gafera hIfTe a2 Freat & = fou T8 fe & T& S @ g |

g -1 A -1l
(IR <R TR (T %)
a. TgEN 1. 29.6
b. TMeT 2. 49.4
c. dugmm 3. 26.0
d. aftfrEms 4. 416
a b c d
(A) 1 3 4 2
B) 3 1 4 2
(C) 38 1 2 4
(D) 1 3 2 4
Match List — | with List — Il and select the correct answering using the code given below the list.
List -1 List -1l
(Type of cheese) (Protein %)
a. Cheddar 1. 29.6
b. Gouda 2. 494
c. Sapsago 3. 26.0
d. Parmesan 4. 41.6
a b c d
(A) 1 3 4 2
(B) 3 1 4 2
(C) 38 1 2 4
(D) 1 3 2 4

87. WH % U H SN T8 i ol Slc=Iad ardl & ¢

Butyric fatty acid % (percent) in Buffalo milk is

(A) 3.2 (B) 3.6 (C) 4.0 (D) 4.4
88. BHISMTSSIYH ! HIrerdl fohd <iet & S fopa ST 8 7
(A) ShrftrT-get (B) -
(C) I (A) 3 (B) Tl 2 (D) IS +ft T &
Homogenization efficiency can be checked by
(A) Creaming-index (B) Farrall-index
(C) Both (A) and (B) are correct (D) None of the above
89. THTMGA g¥ H @1 MRS ol HEAT FEANIRA gF h o H foha1 T 3Tk 81 @ ¢
(A) 1,000 T[T (B) 5,000 T (C) 10,000 T[T (D) 15,000 7T
The number of fat globules in homogenized milk is about how much time greater than in untreated
milk
(A) 1,000 times (B) 5,000 times (C) 10,000 times (D) 15,000 times
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90. BHISHISSIH IHT TAISICH o TR hi fhH TR Teh HH P ¢dl & 7

(A) 0.5uH A (B) 0.9u® HH
(C) 1.5u® 1 (D) 2.0p | A
Homogenization reduce the size of fat globules to which size ?
(A) Lessthan 0.5u (B) Less than 0.9u
(C) Lessthan 1.5u (D) Less than 2.0u

91. g9 I HIEeR WAl = | ¥ fopteh wvarl w1 gilar 8 7
(A) =T/ (B) Shetfyrm /Amfirrm
(C) HrEge/Brehe (D) FANTEE /At
Koestler number of milk denotes the relationship between
(A) Acid/salt (B) Calcium/Magnesium
(C) Citrate/Phosphate (D) Chloride/Lactose

92. WM g i feHeh fohaa BT 8 7

The freezing temperature of normal milk is

(A) 0.44°C (B) 0.55°C (C) 0.66°C (D) 0.77°C
93. gee HIHIeT SrEEewhite treg & @y ufafshan tar & 3 ush Aredieges Icae il & foem
R ZTav I el &
(A) drer-TT (B) TSI
(C) &U-TT (D) SATA-TT
Nitrate reacts with phenol disulphonic acid and produces a nitroderivative in which alkaline solution
develops
(A) Yellow-colour (B) Pink-colour
(C) Green-colour (D) Red-colour

94. . Th. U. T % ITHER W # gY IRRT 1 AT BN @

(A) 22 gfasrd (B) 15 gfasra (C) 19 ufaerd (D) 17 wfaerd
According to P.F.A. rules the lactose present in Rabri should be
(A) 22 percent (B) 15 percent (C) 19 percent (D) 17 percent

95. T § & g9 I G -0 BT 7 ?

(A) waar (foenifdt) CRSELSIEE]
(C) AT 3R A=eATa (D) Seftaan
Which of the following is the fluid property of milk ?

(A) Viscosity (B) Elasticity
(C) Visco-elasticity (D) Aqueous
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96. WI-HTS & AR B-Aact &t # 31iferes ufrs it 3rferepan =fm 2
As per AG-MARK maximum limit of oleic acid in red lebel ghee is
(A) 1.0% (B) 1.4%
(C) 1.6% (D) 1.8%
97. IEATER oY Tell Icsieh SHAR ¥ STHT ST 8
(A) WIE IcESIh (B) 3TUhe T IcESIh
(C) holget Scsish (D) HH-ATY IcHSIh
Vertical short tube evaporator is popularly known as
(A) Plate evaporator (B) Centrifugal evaporator
(C) Calandrial evaporator (D) Low-temperature evaporator
98. TrmafciRga & @ -1 wh Wifae 10 g7 vag T o AE 7 ¢
(A) 3TdT (B) Hag-aA1d
(C) wT=ilet= (D) GT=ICT
Which one of the following physical property is not a rheological property ?
(A) Viscosity (B) Surface tension
(C) Elasticity (D) Plasticity
99. I T ¥ H-T1 THIE T AT TN & SN M TR WSt TTaI07 sl T L ¢l & 7
(A) &R Heeh (B) 3T HoTh
(C) Hazg Toramefict weeh (D) Tt
Which of the following cleaning medium is best suited for removal of proteins and mineral salts ?
(A) Alkaline solution (B) Acid solution
(C) Surface active solution (D) Water
100. form BR@-dehIeht T IWITT S I | SRN-Thed bl geM o Iu=wT fokam Sram 7 2
(A) FAE STZITFETIS T IUAT (B) TIfsam ETEURANIEE ST IUANT
(C) SHIh-3ISRb T ITAM (D) RUHITH I TN
Green-technology for removal of bio-films in dairy-industry
(A) Usage of chlorine dioxide (B) Usage of sodium hypochlorite
(C) Usage of bio-detergents (D) Usage of QACS
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